gini =

X[6] <= 66.5000
0.365465676051
samples = 6304

o

gini =

X[4] <= 0.0465
0.177212398355
samples = 1323

/

X[9] <= 0.5550
gini =
samples = 129

0.217294633736

'

'

gini =

X[9] <= 0.3650
0.0280702788089
samples = 1194

'

gini = 0.0400 gini = 0.4953 gini = 0.2778 X[7] <= 0.9908 X[9] <= 1. 1250 0.4959
samples = 98 samples = 31 samples = 6 gini = 0.0199979593919 gini =
value = [ 2. 96.] value = [ 14. 17.] value=1[1. 5.] samples = 1188
gini = 0.0000 X[3] <= 10.7000 X[4] <= 0. 0655 gini = 0.0000 gini = 0.0000
samples = 3 gini = 0.0150745072905 gini = 0.0176508509439 samples = 3 samples =
value = [ 0. 3.] samples = 1185 samples = 4492 value = [ 3. 0.] value = [ 3. 0.]

N,

X[4] <= 0.0695
gini =
samples = 4981

0.121632087498

'

\

X[1] <= 0.8250
gini =
samples = 4506

0.0215122747024

X[7] <= 0.9952
gini = 0.487534626039
samples = 475

gini =
0.0189493455217 samples = 11
samples = 4495 value = [ 6. 5.]

'

X[2] <= 0.0600
gini = 0.104938271605
samples = 126

{

\

X[3] <= 6.2500
gini = 0.356450275449
samples = 349

'

X[4] <= 0.0705
gini =
samples = 123

0.0629255073039

X[6] <= 157.5000
gini = 0.0523964497041
samples = 260

gini = (0.2803
samples = 89
value = [ 15. 74.]

o

0. 0134673944269} samples. =67

ini = 0. X[6] <= 68.5000
= gini =
value = [ 2. 0.] samples = 121

'

N

gini = 0.1214
samples = 77

value=[ 5. 72.]

X[6] <= 72.5000
gini = 0.00560219669234
samples = 4272

LN

gini = 0.1078
samples = 70
value = [ 4. 66.]

X[3] <= 0.9250
gini = 0.00380046128393
samples = 4202

N

gini = 0.0815
samples = 47
value = [ 2. 45.]

X[9] <= 0.7850
gini = 0.00288391612037
samples = 4155

LN

X[10] <= 13.5750
gini = 0.00241370634801
samples = 4138

gini = 0.1107
samples = 17
value=[ 1. 16.]

N

X[5] <= 6.5000
gini = 0.00194080360308
samples = 4118

gini = 0.0950
samples = 20
value=[ 1. 19.]

N

gini = 0.0555
samples = 35
value=[ 1. 34.]

X[9] <= 0.7550
gini = 0.00146842798845
samples = 4083

N

X[2] <= 0.2350
gini = 0.000991325654597
samples = 4033

gini = 0.0392
samples = 50
value=[ 1. 49.]

LN

X[8] <=3.3150
gini = 0.00840321173601
samples = 474

gini = 0.0000
samples = 3559
value=[ 0. 3559.]

/N

gini = 0.0000
samples = 379
value=[ 0. 379.]

gini = 0.0412
samples = 95
value = [ 2. 93.]

X[3] <= 1.1000 gini = 0.0000 X[8] <= 3.8350 gini = 0.2540 gini = 0.0000 X[1] <= 0.2250 gini = 0.0000
gini = 0.0117642939673 samples = 2 gini = samples = 2 0.0325114404754 gini = 0.0231628417969 samples = 4
samples = 1183 value = [ 0. 2.] samples = 4425 value = [ 10. 57.] samples = 256 value = [ 0. 4.]
gini = 0.0000 X[7] <= 0.9927 X[4] <= O 0130 gini = 0.0000 gini = 0.0000 X[0] <=9.9500 gini = 0.3750 gini = 0.0000
samples = 1 gini = 0.0101007498261 gini = 0.0130243673339 samples = 1 samples = 1 gini = 0.0165277777778 samples = 4 samples = 252
value=[0. 1.] samples = 1182 samples = 4424 Value =[1. 0.] value=[ 1. 0.] samples = 120 value=[ 1. 3.] value = [ 252. 0.]
gini = 0.2778 X[4] <= 0.0510 gini = 0.5000 X[9] <= 0.8050 gini = 0.0000 gini = 0.0000
samples = 18 gini = 0.00514135402274 samples = 4 gini = 0.0121425646486 samples = 119 samples = 1
value = [ 15. 3.] samples = 1164 value = [ 2. 2.] samples = 4420 value=[ 0. 119.] value=[ 1. 0.]
gini = (0.1884 X[9] <= 0.4550 X[6] <= 275.0000 gini = (0.2188
samples = 19 gini = 0.00174519936691 gini = 0.00868554903741 samples = 64
value = [ 17. 2.] samples = 1145 samples = 4356 value = [ 8. 56.]
gini = 0.0555 gini = 0.0000 X[2] <= 0.0950 gini = 0.4082
samples = 35 samples = 1110 gini = 0.00778732947439 samples = 7
value = [ 34. 1.] value = [ 1110. 0.] samples = 4349 value = [ 2. 5.]




